g

M U L TI1 B R A C K E T S

M Universal Projector
Ceilingmount |

GuS AN Jila el adl A1 Jala

Installationsmanual  Projektormontering
Montageanleitung ¢ Projektorhalterung

Evyxeipidio EykataoTtaong « NpoodpTtnon lNpoBoAéa
Installation manual  Projector Mount

Manual de instalacion « Peana para proyector
Asennusopas * Projektorin jalusta

Manuel d’installation * Socle projecteur

Manuale di installazione ¢ Supporto proiettori
Installasjonshandbok ¢ Projektorstativ

Instrukcja montazu « Podstawa projektora
PykoBOACTBO MO yCTaHOBKe * [lepxxaTesib Ans npoekTopa
Installationshandbok ¢ Projektorfaste

Montaj Kilavuzu « Projektor Sehpasi

REFH - MBI

www.multibrackets.com



lal

Adle Al i35 jeal Y1 G gl Sieal g Jem RO Ganal Jlea i il 5T LCD o e Sl A0 G
Aom 1 g il 5 il skl Aualia ()5 Y i R pa 0l S |

L a5 A (g AT a1l Jai

aila 5L gy vlall 8 oS T i e L ol lalalf pe D

VIGTIGT!

Din plasmaskeerm, LCD-skaerm, tv, projektor, projektorskeerm eller andet HiFi-udstyr
repreesenterer en betydelig veerdi.

Hvis der medfalger skruer, passer de muligvis ikke til materialet i veeggen, loftet eller
gulvet.

Udskift skruerne med passende skruer, hvis det er ngdvendigt.

Hvis du er i tvivl om noget i forbindelse med monteringen af produktet, skal du kontakte
en ekspert.

ACHTUNG!

Ihr Plasma-, LCD-, TV-Gerat, |hr Projektor, lhre Leinwand oder sonstige HiFi-Ausriistung
stellt einen betrachtlichen Wert dar.

Die moglicherweise im Lieferumfang enthaltenen Schrauben sind unter Umstanden nicht
fir das Material ihrer Wande, Decken oder Béden geeignet.

Ersetzen Sie sie bei Bedarf durch geeignete Schrauben.

Wenn Sie bezliglich der Montage des Produkts unsicher sind, wenden Sie sich an einen
Fachman

>HMANTIKO!

Ol TAeopdoeig Plasma, LCD, o1 kavovikég TnAeopdaeig, ol 086veg TTPoBoAEwY i GAAEG
ouokeuég HiFi éxouv pia agloonueiwtn agia.

Av TrepihapBavovtal Bideg iowg va pnv gival KatdAANAeg yia To UAIKS Tou Toixou, Tou
Tapaviol A Tou TTaTWPaTéG GG,

AvTikataoTAOTE TIG Bideg He KATAANAEG av gival atrapaitnTo.

2NV TEPITITWON TTou dev €i0TE Giyoupol yia KATTOIEG {NTHHATA OXETIKA HE TNV
TPOCEPTNON auTOU TOU TTPOIGVTOG, TTapakaAoUpE CUPBOUAEUTEITE Evav €101KO.

IMPORTANT!

Your Plasma, LCD, TV, Projector, Projector Screen or other HiFi equipment represents a
considerable value.

If screws are included they may not be suitable for the material of your wall, ceiling or
floor.

Replace the screws with suitable ones if needed.

In case you are unsure regarding any aspects of the mounting of this product please
Consult a professional.

IMPORTANTE

Los equipos de plasma o LCD, los televisores, proyectores y pantallas de proyeccion,
asi como otros equipos de alta fidelidad suponen una inversién considerable.

Si incluyen tornillos, puede que no sean adecuados para el material del que estén
formados la pared, el techo o el suelo.

Sustituya estos tornillos por otros mas adecuados si es preciso.

Si no esta seguro sobre cualquier aspecto del montaje de este producto, consulte a un
profesional.

TARKEAA!

Plasma- tai nestekidenayttdjen, televisioiden, projektorien ja niiden valkokankaiden seka
muiden hifi-laitteiden arvo on huomattava.

Laitteen mukana toimitettavat ruuvit eivat valttamatta sovellu seinien, katon tai lattian
materiaaliin.

Korvaa ne tarvittaessa sopivilla ruuveilla.

Mikali olet epavarma mista tahansa taman tuotteen kiinnittamiseen liittyvasta seikasta,
ota yhteys asiantuntijaan.

IMPORTANT!

Vos écrans plasma, LCD, télévisions, projecteurs, écrans de projection ou autre matériel
Hi Fi ont une valeur considérable.

Les vis fournies peuvent ne pas étre compatibles a la nature de vos murs, plafonds et
sols.

Remplacez-les par des vis adaptées.

Si vous avez des doutes quant au montage de ce produit, veuillez consulter un profes-
sionnel.

IMPORTANTE!

| vostri plasma, LCD, TV, proiettori, schermi di proiezione o altri apparecchi Hi-Fi rap-
presentano un notevole investimento.

Le viti in dotazione potrebbero rivelarsi non adatte per il materiale della parete, del sof-
fitto o del pavimento.

Sostituitele quindi con viti piti idonee in caso di necessita.

Nel caso riscontriate problemi nel montaggio di questo prodotto, consultate un tecnico
specializzato.

VIKTIG!

Din plasma, LCD, TV, projektor, projektorskjerm eller annet HiFi-utstyr har betydelig
verdi.

Hvis skruer falger med, er det ikke sikkert at de passer til materialet i veggen, taket eller
gulvet.

Bytt skruene i skruer som er egnet om ngdvendig.

Hvis du er usikker nar det gjelder montering av dette produktet, ma du kontakte en
profesjonell.

UWAGA!

Monitor plazmowy, LCD, telewizor, projektor, ekran projekcyjny lub inny sprzet HiFi
stanowi znaczng wartosé.

Jesli dotaczono do niego $ruby mocujace, moga one nie by¢ odpowiednie do materiatu,
z ktérego wykonane sg dane $ciany, sufit lub podtoga.

W razie potrzeby nalezy je zastgpi¢ odpowiednimi srubami.

W razie jakichkolwiek watpliwosci dotyczacych montowania tego urzadzenia nalezy
zasiegna¢ porady u specjalisty.

BHVMAHWE!

Kakvm 6b1 06opyaosannem HiFi Bbl HU nonb3oBanuce, 6yab To nnasmeHHbli, XK nnm
CTaHOapTHbIN TENEBU30P, MPOEKTOP UIU MPOEKLMOHHBIV 3KpaH, - BCE OHW NPeACTaBMsoT
3HAYNTESBHYIO LIEHHOCTb.

He Bceraa kpenneHus, npunaraemMble B KOMMMEKTe, MOAXOAAT K MaTepuarny BallnX CTeH,
noTonka unu nona.

Mpu HeobXx0ANMOCTH 3aMeHUTe X Ha Gonee noaxodsiume.

Ecnu y Bac ecTb kakue-nnmbo COMHEHWSt OTHOCUTESBHO TOTO, KaK KPernuTb AaHHbIN
NPOAYKT, NOXasyncTa, MPOKOHCYNbTUPYNTECH Y KBANUULMPOBAHHOIO Crieumanucra.

VIKTIGT!

Din plasmaskarm, LCD-skarm, TV, projektor, projektorskarm eller annan HiFi-utrustning
representerar ett ansenligt varde.

Om skruvar medféljer utrustningen ar det inte sakert att de passar for materialet i vag-
gen, taket eller golvet!

Byt ut skruvarna mot lampliga skruvar om sa kravs.

Kontakta en expert om du &r osaker pa nagot i samband med monteringen av produk-
ten.

ONEMLI!

Plazma, LCD, TV, Projektor, Projektér Ekraniniz veya diger HiFi cihaziniz son derece
degerlidir.

Birlikte verilen vidalar duvar, tavan veya déseme techizatiniza uygun olmayabilir.
Gerektiginde vidalari uygun olanlarla degistirin.

Bu urtintin monte sekilleri ile ilgili sorunlariniz olmasi halinde bir uzmandan yardim alin.

EEHLR!

WIS T . LCDL TV, BB, BUROOR S e HIFT B4 5 5 R T i
R BATIRET, AT REANE A R . K AR .
WUREE, R T O S

USRS A™ b AR Ty AT BE ], BTl A B

WARRANTY CARD

MULTIBRACKETS.COM

MULTIBRACKETS ™ Limited Warranty
Multibrackets warrants its products to be free of defects in

material and workmanship for the product’s Warranty Period. Should a part on your Multibrackets product fail, please create an installation. To the maximum extent permitted by applicable law,
The Warranty Period commences on the original purchase RMA case on www.multibrackets.com/support to make a warranty Multibrackets disclaims any other warranties, express or implied,
date of the product. claim. We will await your documentation and then discuss the including warranties of fitness for a particular purpose and war-

problem with you and once we confirm the product is under war- ranties of merchantability. Multibrackets will not be liable for any
All Multibrackets products are covered ranty, we will ship replacement parts to you. This Limited Warranty damages whatsoever arising out of the use or inability to use its
by a limited product warranty: does not cover the costs of removing and replacing defective parts products, even if Multibrackets has been advised of the possibility

o FIVE (5) years for metal video monitor mounts, all racks
and non-electrical rack accessories

* ONE (1) year for all motorized and/or automated products,

wood (MDF) accessories

For warranty claims made during the Warranty Period, MULTI-
BRACKETS will replace any defective product part free of charge.

from your Multibrackets product. So, if your problem requires a
repair technician, you must pay any labor charges.

This Limited Warranty extends only to the original purchaser
of the product and is automatically void if your Multibrackets
product is modified in any way, improperly installed, taxed beyond
plastic speaker mounts, all speaker stands, all furniture; all its stated weight capacity or otherwise misused or abused. All
Multibrackets products are intended for indoor use only and any

outdoor use voids this Limited Warranty. The Limited Warranty for
wall and ceiling mounts is void if the mount is moved from its initial

of such damages. To the maximum extent permitted by applicable
law, Multibrackets disclaims any responsibility for incidental or
consequential damages.

Multibrackets ™ Stockholm Sweden 2014,
www.multibrackets.com

www.multibrackets.com



A(x1)

C (x1)
___________________________________________________________________ 1
]
1
]
N G Gy Dy © © 0 @
M3x8 (x4) M4x10 (x4) M5x10 (x4) M6x10 (x4) D3 (x4) D4 (x4 D5 ®5x®12 (x4) D6 (x4 :
M-A M-B M-C ,
]
1
| ]
Ty o @ [° _ |
M5x12 (x6) D5 @5x@10 (x6) D5 (x6) D5- 12 (x2) M5- 12 (x2 M-N (x1) :
M-I M-J 1
]
1

A D>

W-A (x4)

www.multibrackets.com



www.multibrackets.com



www.multibrackets.com



g 3

&

e
0d

NS — =

,,\ —75) .

www.multibrackets.com









	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

